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Which Temple was built during
Salastambha Dynasty ?

(A) Bhubneshwari

(B) Kamakhya

(C) Mahamaya

(D) Mahabhairab

What is called as “Peace Garden
of North East” ?

(A) Mizoram

(B) Meghalaya

(C) Sikkim

(D) Tripura

In which year the first Saraighat

Bridge in Guwabhati was
constructed ?

(A) 1952 (B) 1960

(C) 1962 (D) 1965

In cricket world cup tournaments
how many times India has

defeated Pakistan ?
(A) 5 B) 7
) 8 (D) 2

Whose daughter was  Amrita
Prabha who got married to
Kashmiri Prince Meghavahana ?
(A) Bhuti Varman

(B) Kalyan Varman

(C) Bhaskar Varman

(D) Bala Varman

East India Company annexed

Kachari Kingdom because of

(A) Alliance with other kings

(B) Mis-management

(C) Conspiracy against East
India Company

(D) Doctrine of Lapse

WG] AFCYS ANF© (?]57\“;

T fersfter <5 T 2
(A) TCTRT (B) I
(C) TR (D) W2MToT

T R 2T 2
(A) WTEEN
(C) fofew

(B) €T
(D) fasat

SR 22 *J12Af vz e
BeT fersfier <54t T2 2

(A) $5@ (B) Ssvo
(C) Ssby (D) Ssbe

fss @b Ffiebe eRre
oIS AR 2Faiafee 2
(A) ¢ B) 1

©) ¥ (D) =

ool ool Fq GREl wifwE R

SIS AP EEA=A G0 <l

2w 2

(A) T

(B) poTyiel ey

(C) o= I+

(D) Je1

28 3T @EenaE TR T I

CoTfeet pIgel —

(A) S TG 10O (S5

(B) SRIKEI

(C) 3 am wfm [
ITIF

(D) Doctrine of lapse
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7. Which player has been awarded | 7. @& 35 oG 6!, @fHR
with Arjun Award, Dronacharya 51, IAET SR TG S oAl
Award, Rajiv Gandhl Khel Ratna S e 91 e 2
and Padmashri ? Sl
(A) Abhinav Bindra (A) SIS
(B) Sachin Tendulkar (B) o= CBQE P
(C) Pullela Gopichand (C) #CeTeTl CAlIATDT
(D) Saurav Ganguli (D) TTR® 9IRS

8. Former football player and | 8. &S FoIET @ F IO
present Chief Minister of T7EE Jwal A @ e Pee
Manipur' Sri N Biren Singh has TR 5[ @I BR Gl
served in which Central Govt. SISBICE 2
Organization ? T
(A) CRPF Eg)) ggF
(B) BSF
(C) Assam Rifles © SEl
(D) CISF (D) CISF

9. Hima Das is nicknamed as 9. TP T
(A) Sprint Queen EEE (A) ﬁﬁ?ﬁ?

(B) Dhing Express £t (B) T @srem
(C) Track Queen (C) G 2
(D) Toofan Mail (D) T @25

10. India started participating in | 10. 9F TS ©RCS  HEIHTS
Olympic Games in the year TN S fe] FRRE 2
(A) 1900 (B) 1904 (A) 5500 (B) 5508
(©) 1912 (D) 1952 (C) 3532 (D) $>@2

11. Who has won individual Gold 11. If&re SR FhiFs @Hie 2o
Medal in Olympic Games ? NP S PR ?

(A) Gagan Narang (A) Stae 1!
(B) Abhipav Bindra (B) wfowa el
(D) Rajyavardhan Rathore (D) SR 11 29
Series-C [ 4] Q2



12. In MS Word, the mailing list is | 12. «¥ 45 TGS F@3fTR TT8F &l T —
known as (A) el 5
(A) Data Sheet
(B) Sheet (B) 5
(C) Data Source (C) wrsl>g
(D) Source (D) 4
13. One  Megabyte equals | 13. & (FIRIZGT TIFF (7)) 2
%prfgggagg) (A) 1000 bits
(C) 10 Lakh bytes (C) 10 Lakh bytes
(D) 10 Lakh bits (D) 10 Lakh bits
14. When you are working on a : 14 SN @fe FICHR «Bre 72T
document on PC, where is the (document) I I FqI (SfeAl
document temporarily stored ? SZAe@ document®!  F©
(A) ROM HIHFe 39 2
(B) RAM (A) ROM
(C) CPU (B) RAM
(D) Flash Memory (C) CPU
(D) Flash Memory
15. How are data organized in a %?EIS' Spread sheef® @FT o2 Tolfye
spread sheet ? =39
(A) Lines and Spaces (A)' Li d4s
(B) Layers and Planes 10es and >paces
(C) Rows and Columns (B) Layers and Planes
) , (C) Rows and Columns
(D) Height and Widths | (D) Height and Widths
16. Portrait and Landscape are 16. 5@ = i 24
(A) Page Orientation P Ay ol 2
(B) Page Layout (A) TG
(C) Paper Size (B) To&r (ToAEh
(D) All these (C) TIIAbizw
(D) SAT APCT =
17. Which of the following is not a | 17 wsq ! 5 BiE 7= 2
font style ? P '
(A) Italics (B) Superscript (A) Zoifered (B) g‘m?ﬁ\@@
(C) Regular (D) Bold (C) W (D) T
Q2 | 5] Series-C




Q. (18-20) : In the following sentences
find out the segment in which there is
an error :

Can you repair my
(A) (B)
digital camera until Wednesday

©) (D)

18.

The Economic disparity
(A)
has grown
(B)
rapid in the era of globalization

©) (D)

19.

He told me that he want
(A) (B)
to have a talk with me

©) (D)

20.

Q. (21-22) : Fill up the gap with a
appropriate words.

o (18-20) : o519 IARTETT *[l T

SIACH! b1 Tfere |
18 Can you repair my
@A) (B)
digital camera until Wednesday
(©) (D)
19 The Economic disparity
' (A)
has grown
(B)
rapid in the era of globalization
(©) (D)
20 He told me that he want
' (A) (B)
to have a talk with me
©) (D)
EEmE
&

o (21- 22) : T XS e D12 77 T

. 21. Neil Armstrong was

21. Neil Armstrong was first man to walk on
first man to walk on Moon.
Moon.
(A) a,the (B) the, upon
(A) a,the (B) the, upon
(C) the, the (D) the,a
(C) the, the (D) the, a
' _ 22. Measles infectious.
22. Measles infectious. A) B
(A) is (B) are (&) 1s (B) are
(C) were (D) are been ; (©) were (D) are been
Series-C L6 ] Q2



Q. (23-27) : Fillup with correct word.
The
but (23) do not have proper information,
they may (24) that private medical

regulations are fairly simple

care is extremely expensive. It is not
unusual to discover that they do not
have (25) money with them to (26) the
total cost and (27) such circumstances
an already difficult situation becomes

even more complicated.

23. (A) whether (B) because
(C) people (D) as
24. (A) look (B) find
C) k D t
(C) know (D) wan %5
25. (A) enough (B) little
(C) full (D) few
26. (A) give (B) have
(C) cover (D) spend
27. (A) in (B) at
(C) up (D) on

20 (23-27) : Al Oi2® Wi Teq fordl :
The
but (23) do not have proper information,
they may (24) that private medical

care 1is extremely expensive. It is not

regulations are fairly simple

unusual to discover that they do not
have (25) money with them to (26) the
total cost and (27) such circumstances
an already difficult situation becomes

even more complicated.

23. (A) whether (B) because
| (C) people (D) as
24. (A) look (B) find
i (C) know (D) want
25. (A) enough (B) little
(C) full (D) few
26. (A) give (B) have
| (C) cover (D) spend
27. (A) in (B) at
(C) up (D) on

Q2 L7]
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28. Telephone is related to Voice as
‘Letter’ is related to

(A) Envelope

(B) Post office
(C) Cover Product
(D) Writing

29, Parliament is related to Great
Britain in the same way as
Congress is related to

(A) Japan (B) India
(C) USA (D) Nepal

30. Which of the following is the

28. THRTCTiea I FAR OIS 7916 =W
(S(B “TH6R’F O 95 2
(A) 9T (4N)
(B) TIFYS
(C) FoF 2ulg
(D) TeTdfe

29. AIffImG TTe 3™ @b e
T 2 (OB LRI T 2]
(A) S (B) ©®
(C) 3T«s 9 (D) IolleT

30. o[ (PG IR, FRIG, A

same  as Wrestling, Karate, (RET] (TCS A1 SR 2
Boxmg? ' (A) ATST

(A) Swimming .

(B) Polo (B) T

(C) Pole Vault (C) AT

(D) Judo - (D) ol

Q. 31 & 32 : On the basis of the
relationship between first two words,
you are required to decipher the
relationship of the third word with the
options given.
31. Calendar : Dates :: Dictionary : ?
(A) Words (B) Book
(C) Vocabulary (D) Sentences

32. Medicine : Sickness :: Book : ?
(A) Ignorance
(B) Knowledge
(C) Author
(D) Teacher

204 31 91 32 : &I%S e T4 &I 101
WHq TAGE] T B QORI *AGE
TG TS e A9 Kes! b
Tfered ?

31, e : S w2

(A) (B) ol
(C) Sl (D) AW

32 87y : el :: vt : 2

(A) TS|
(B) &=

(C) T&4F
(D) Mres

Series-C | 8] Q2



33. Select the pair in which the words 33. woq fog o e 9 @<i! <ifs
are differently related. Thyeqt 2
(A) Hard : Soft (A) T—,‘H :W
(B) Long : High (B) Freet - 64
© suet:son & e
(D) Pointed : Blun (D) THIe! : T
34. Select the odd pair of words. 34. e @I <oifs Slereay
(A) Volume : Litre (A) ofeTey : bR
(B) Time : Second (B) ¥ : (RS
(C) Length : Metre (C) &g - G
(D) Pressure : Barometer (D) BI%f @GR
35. The 100™ term of the series | 35, ‘o, @, 9, ¥, TS Soo &
3, 5, 7, 9, .o Wlll be i ﬁ’@ﬂgmi’q?
(A) 201 (B) 203 (A) 205 (B) 204
(C) 199 (D) 205 (©) Sod D) 20¢
36. Find out the missing term inthe | 36. o9 BRSGRe & @R TGIG!
following series :
EEE 8% _ -9 - S .
Wol44: 2 : S.100; Q81; 3 ol Sfereat W-144 ; 2 ; S-100;
0-64 Q-81; O-64
(A) V-121 (B) V-128 (A) V-121 (B) V-128
(C) U-122 (D) U-121 (©) U-122 (D) U-121
37. Select the word which is least like 37. ® C 791 TP T
the other words in the group. AP <Pl B! i Sfereat 2
(A) Geometry (A) eiffs
(B) Algebra (B) 9eTeErd!
(C) Trigonometry (C) faieilG
(D) Mathematics (D) §ifers
38. Select the odd one. 38. If¥eTCO! foiis Sferea 2
(A) Copper (B) Tin (A) ¥ B) o=
(C) Brass (D) Zinc (C) fores (D) T
Q2 1 9| Series-C




39. Pointing towards a lady, Rajan

said, “She is the daughter of the
woman who is the mother of the
husband of my mother”. Who is

39, JEC  WEEEERSIE SRR

GEE RS @F IF =N
T | SR Irereiq e =3 2

the lady to Rajan ?
(A) Aunt (A) IR
(B) Daughter (B) ISIICES
(C) Sister (C) SNTF
(D) Sister-in-law (D) W
40. Ina code  language, | 40 pypl ANATION < i T
EXPLANATION is written as
EYQMAOAUIOO. Using the WEYQMA,OAUIOO{%%?”
same code OBVIOUSLY will be 2 (Y GiF $ TS OBVIOUSLY
written as F T2 ?
(A) PCWIJPVTMZ (A) PCWJPVTMZ
(B) OCWIOUTMZ S (B) OCWIOUTMZ
(C) OCWIOVTMZ (C) OCWJOVTMZ
(D) OCWIOVIMZ (D) OCWIOVTMZ
41. In certain code TRIPPLE is 41. TRIPPLE & ¥ SQHOOKD
DISPOSE ean be witen n thar | T 5 7 T COTS DISPOSE 7
code ? FIGI F TS o4 27 2
(A) ESOPCID (A) ESOPCID
(B) EJTPTE (B) EJTPTF
(C) DSOESPI (C) DSOESPI
(D) CHRONRD ' (D) CHRONRD
Series-C |1_6| Q2



Q. 42-44 are based on the following
information :

Six plays A, B, C, D, E and F are to
be staged on each day from Monday to
Saturday. The schedule of the plays
is to be in accordance with the
following :

(1)

A must not be staged on Friday.

2% TR 42 F 44 05 oo FURE fofeo
91 2R -

A, B, C, D, E, F <103 =49 IS
CINRIT [ *WAReE I8 F41 27 |
5 (P2 T%E 19 o vl a1
w7IfRe] G —

() A 0PI WFIRNET e
2T |

(11) ((13 mu;tthnot l;)le ;t?ged on the first (i) CABFE© 2 syar el 6
ay of the schedule. 72T |
(i) D should be staged on ,
Wednesday only but should not (i) D 1 LA 2T
o C 0P ey w9 fPrereg
be followed immediately by C. ,
o] 1 72T |
(iv) There should be a gap of two days '
between D and F. (iv) DNTEF b 4T &P e
(v) E should be immediately 2 !
o [RCSR o IR
G
42. Play D was immediately preceded 42. DB @ 5 ""I(.?/I o
by~ <l Cafiew —
(A) A (B) B (A) A (B) B
€) C (D) D . ©cC (D) D
43. Play F was scheduled on which 43. F SO I © & Aal
day ? 237
(A) Monday (B) Saturday (A) CINEIE (B) ¥R
(C) Thursday (D) Tuesday | () gz (D) wemi
Q2 | 11] Series-C




44. Which is correct sequence of
plays starting from Monday ?

(A) AEDBCF
(B) EADCBF
(C) EADFBC
(D) None of these

Q. 45-48 are based on the following
information :

A + B means A is son of B.

A — B means A is wife of B.

A x B means A is brother of B.
A + B means A is mother of B.
A =B means A is sister of B.

45. What does A =B + C mean ?
(A) Ais Aunt of C.
(B) A is Daughter of C.
(C) A 1s Niece of C.
(D) A is Sister of C.

46. What does J = K + L mean ?
(A) Jis Auntof L.
(B) Jis Sister of L.
(C) L is Niece of J.
(D) L is Daughter of J.

47. What does S + T — U means ?
(A) U is Father of S.
(B) Uis Son of S.
(C) Uis Uncle of S.
(D) U is Brother of S.

44. TR “[_ emfe 91 oA 7

SIfeTl ©FF (I Wam2'F ?
(A) AEDBCF
(B) EADCBF
(C) EADFBC

(D) ¢S 72T |

o R 45 J 2] 48 51 ©oq R

fefes T4l (2= :

A+ B39 A T2@ BT 0T |
A - B3I 9L A 0202 BY 719 |
A x BI 9 A (22 BI S |
A+BI9d AR BITF |

A =B3I9Y A 202 B S |

45. A=B+CITLf5?
(A) ATZRCI Y |
(B) ATBR CI G |

= © AR CIShHE |

(D) AT2® C T SIES |

46. J=K~+~LIgdfs?
(A) JTE LIS |
B) JERLISAX |
(C) Lz=ITshE |
(D) L@ERIIGES |

47. S+T-UISLfF?
(A) UTRR ST MTO |
(B) U@R ST o |
(C) UT2® ST I |
(D) UR ST |

Series-C
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48.

What does P X R +Q means ?
(A) P is Brother of Q.

(B) P is Father of Q.

(C) Pis Uncle of Q.

(D) P is Nephew of Q.

Q. (49 — 51) Each question is followed
by two statements numbered (I) and
(IT). You have to decide whether the

data provided in the statements

(I and/or II) are sufficient to answer

the question. Give answer as :

48. PxR+ QI 5?2
(A) PEEERQICR |
(B) P a2 Q3 (TSI |
(C) P22 QY Y |
(D) P22 Q3 sfww |

2% TR 49 I 2191 51 &1 LATSIREG! & 9ol
T (1) S (1) T P 41 2 |
el Gieql TWHRE (1 S 11)© [
R R PIa® =17 el | TeIw@

(A) Ifthe data in statement (I) alone is Gl ot 27
sufficient to  answer the m _
question. SRA(A) M (1) 9 TS TICER A

TG AT LT |

(B) If the data in statement (II) alone
is sufficient to answer the | (B) I () I TI[ TR PRE
question. O ERICRICER

(C) If the data in both the statements (C) IW (I) &= (II) YRS TSA©
(I) and (II)  together are TEd T WSIERd 2 Tead
necessary to answer the question.

L AW e |

(D) If the data in both the statements
together are not sufficient to (D) m HE e il
answer the question. TE A S 72 |

Q2 | 13] Series-C



49. What is the colour of this bag ? 49. @IORRFZI?
(I) The colour of this bag is ) @GR a2 R |
appealing .
(I) The colour of this bag is (1) ) F31 98F ({919 192 G2
same as that of other bag
OB 08! GG |
which is black.

50. A student has to pass in both | 50. G& 2E3 2] et T oifr®
Mathematics and Science to be e [we @b e Terd
promoted. How many students 23 MR | I =G e[ @

{?
get promoted ? A
B e
o
() There were total 100 (1) THIOrS © Yoo ®§
students in the class. |
(I) 30 students passed in Math | (ID) 90 G R IRFS HIF b0 T
and 80 passed in Science. =@ freiTe Telf = |

51. Are Jackfruit sweet ? 51. o1 ol = 2
(I) All vegetables are sweet. () ! = - AR fot |
(IT) Jackfruit is a vegetable. (1) Foe Gfqy “I6fT |

Series-C [ 14] Q2



52. The Planet nearest to Sun is 52. < HGIR(F OIS A ARG
(é*) f;fth (IB)) Mars (A) =S (B) Wafe
(C) Mercury (D) Venus ©) (D) wF
53. Which Planet emits green light ? 53. 0 929 9 GToER (UIiER
(A) Jupiter (B) Uranus CRICERN
(C) Venus (D) Neptune (A) W‘% (B) 3TEAR
©) uT (D) TR
54. “Territorial Water means. 54. “Territorial Water * SIGT
(A) The water found in a
Country in form of rivers (A) Q4] OPITeT T, 2% SifvE =1
and lakes etc. colt <l |
(B) The water which is supplied
to other Countries (B) I ¢ Sl
(C) Water of sea located close (C) @47 ™" 9 I AR
to the coast of a Country e |
(D) \éVater .secured from other (D) & ot e A |
ountries
55. Dilwara Temples are in 55. freraial e wrafge
(A) Indore (B) Mt. Abu  eEm (A) W (B) WSS &Y
56. Xé;:(ei—cf)’tl‘re_mdent of India is the 56. oIe T BAIRS T 2
(A) Lok Sabha (A) TIPTe!
(B) Rajya Sabha (B) r&pTel
(C) Vidhan Sabha (C) Rerrel
(D) Parliament (D) T
57. International Pate line refers to 57, wrEEfes oy WW
(A) 0° Longitude A) 0° Longitud
(B) 90° E Longitude (A) ongiruce
(C) Equat (B) 90°E Longitude
quj or (C) Equator
(D) 180° Longitude (D) 180° Longitude
Q2 | 15| Series-C



58. Scurvy is caused by deficiency | 58. ©o@ (Il [OINE  SreR®
of - Scurvy (191061 2 2
(A) Vitamin-A (B) Vitamin-B (A) TSOIf=-A  (B) febifie-B
(C) Vitamin-C (D) Vitamin-D (C) feoifim-Cc (D) feBiffE-D
59. Most of the Oxygen transported 59. Toeq  mNl RN I
by the blood is off<<ifzs 2
(A) Dissolved in plasma (A) 2lrere ﬁ@?f
(B) Dissolved in water (B) W@ﬁwg
(C) Bound to Haemoglobin C) BaR .
(D) Ionic form as solute in © ©RLE A
plasma (D) SR T ol aeeie
fufors =71 |
60. Isotopes are atoms of the same : g. Isotopes T2 (& T sifde
element that have different WGIW = ifew
(A) Number of Neutrons (A) FTCGa 72!
(B) Number of Electrons (B) BRGS0
(C) Number of Protons (C) &5 714l
(D) Atomic number (D) el 324t
61. Genes are described best by 61. ST SPB Il T2 —
(A) Long, Single chains of (A) BFE, o @i afses
amino acids %ﬁﬁ “j°?l?'; |
(B) Long, Double chains of A ,
amine acids (B) Wiet, qoie Gfer qfbws #2345 |
(C) Long, Single chains of (C) Tge, goe 7 fovefsy «ibes
Nucleic acids R |
(D) Long, Double chains of (D) fw=, worE el ftes
Nucleic acids | X2 |
o - L © 62. “Ring of Fire” 3 51¢
62. “Ring of Fire” means : :
(A) Circum-Pacific belt ! (A) EClrcum- Pa01|ﬁc belt)
(B) Mid-Continental belt =
(C) Indian Ocean belt Eg; %Wﬁ%l
(D) Atlantic Ocean belt (D) WWW &5 |
63. Lord Buddha’s original name was 63. O IS &AF© T iz
(A) Dushyant (B) Siddharth | (A) T8 (B) Praid
(C) Samara (D) Siddhant | (C) 9 (D) P=s
Series-C [16] Q2



64. The Autobiography “Living | 64. “Living History” <Ii¥< SIrI&1G11q
History” has been authored by TP 2 -
(A) Margaret Thatcher (A) SCAACEB CABIS
(B) Benazir Bhutto (B) Wﬁ"ﬂ@
(C) Monica Lewinsky (C) e forearfn
(D) Hillary Clinton (D) Rl f2Ge
65. Indian Economy is 65. SR LIS T’
(A) Capitalist (B) Socialistic (A) = (B) TR
(C) Mixed (D) Federal (C) T (D) EFTIEe
66. The National Stock Exchange is | 66. ‘National  Stock  Exchange’
located at SRES -
(A) Gurugram (B) Mumbai (A) SFAN (B) @2
(C) Kolkata (D) Chennai (C) Ferel (D) =i
67. Which was the first Assamese | 67. SPININI SF &I SCEAGA! Gl ?
language Magazine ? A) foa ot
(A) Chitra Chinta L%?'E' (B) eI
(B) Roopkar Ak
(C) Orunodoi © U
(D) Jonaki (D) TR
68. Who said “Man is a political | 68. TR ratfes el “gfer @i
animal” ? ” 7
(A) Socrates (B) Plato (A) BFILR (B) TG
(C) Dante (D) Aristotle (® T (D) AT
69. “Sishu” is the literary work of 69 “farey> FifSRere ﬁiﬁ—
(A) Vikram Seth (A) R o
(B) Jawaharlal Nehru (B) SRIRIEAR (12
(C) Rabindranath Tagore (C) WWW
(D) Arundhati Roy (D) @@-—%@
Q2 117] Series-C




70. The shape of coins during Ahom | 70. ¥ AFGI VT J@IT SPho
Kingdom was ifee] —
(A) Circular  (B) Rectangular (A) JSFE (B) SRS
(C) Square (D) Octagonal o1
€ 7 (D) SRgEIPro
71. g&ssim sends_ MPs to Rajya | 71, Jieprers Sowg AW 72 2
abha.
(A) 6 B) 12 (A) Y (B) =
) 14 (D) 7 (©) >8 (D) 4
72. “Ek Saran Naam Dharma” was | 72. TR I&9 e 2o
established by Srimanta HEFIICE <A ¥ I 5 fo
Sankardev during which King’s TR 2
time ? '
(A) Chilarai (A) ToeTr
(B) Naranarayan (B) *TSeIISRe
(C) Bhaskar Varman (C) %
(D) Vishwa Singha (D) fo Pz
73. Shivadol was constructed by | 73. RRGIE @R d@E@ forsfie
which Queen ? Ffafee 2
(A) Phuleswari %?E (A) W@
(B) Ambika Kouwari (B) Sl a1
(C) Mula Gabaru (C) eI
(D) Kuranga Nayani (D) T T
74. Who = was  known  as . 74 wzmIe e 3 S GRIEI 2
Mabharajdhiraja ? A —
(A) Bhaskar Varman (A)
(B) Samudra Varman (B) @ e
(C) Pushya Varman (C) WA
(D) None of these (D) TIT TS 7=
75. EVhere ,’v;ill you find “Golden 75, <A AHI” T TR R 2
angur” o
(A) Pabitora  (B) Laokhowa | (A) e (B) <s .
(C) Chakrashila (D) Panidihing | (© P e (D) “ffifee
Series-C 18] Q2



76. The square of a natural number 76. el MLy T MAIG]
subtracted from its cube comes to T 7[[ Re R I 8y =3
ii) T;le number 1S(B) ) 5T® TR R 2
©) 5 D) 4 (A) ¥ (B) v

€) ¢ (D) 8

77. The average age of A and B @s 77. A ST BJ 51T SPT wo I57 ¥ B
30 yrs and that of B and C is iF C 30 929 | GfsTl ASF C
26 yrs. The difference of the age o 0
of Aand Cis — RRl .

(A) 2yrs (B) 4 yrs (A) R9=F (B) 8<®s
(C) 6yrs (D) 8 yrs (C) b= (D) b =S

78. Average of 6 numbers is 8. One 78. & B RF Y E’" R LRl
more number is added and the @l F© 91T 2 5, Gfeqt @l
average became 9. What was the 9] R2AE! F 2
additional number ? (A) 3¢ (B) Su
(A) 15 (B) 16 o) 4 DY %

) 7 (D) 9 (®) (D)

79. Manoj remembers that his elder = E|79' llcer JTe - I A Ol
brother’s birthday is after fifteen %‘?ﬁ PRICR TP e S Fres
but before eighteen of February ¥ St @RI FA9rS | TlRITS
whereas his sister remember that OF SNES i wiiEe ©fzg
his elder brother’s birthday is FREFI TN & O e
after sixteen but before nineteenth % 35 THFART TS | (W &
of February. On which date is E YAG FIRP (A
Manoj’s elder brother’s birthday ? ! e 2
(A) 16™ Feb (B) 17" Feb (A) 16" Feb (B) 17" Feb
(C) 18"Feb (D) 19"Feb .  (C) 18"Feb (D) 19" Feb

| | 80. <o TIF Bl @E E

80. A boy was asked to write 2.5 x 92 3 x 32 o B RRE s e «fem
but he wrote 2592. What is the | . . AL
numerical difference between the ! TR y{,\w © MRAPIO]
two ? i 2'e 2
(A) 1 (B) 0 @ (B) o
©) 3 (D) 5 (C) v (D) «
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81. A bag contains coins amounting | 81. 9Bl @S o Y@ BT S5 G |
to% 112 of % 1, 50 paise and 10 @I S 5, ¢o 7137 HIF So
paise in the ratio of 3 : 8 : 10. WWWWW\‘):E’:
What is the number of 50 paise Yo, & B'H ¢o WE@T SR
coins in the bag ? fuiey wifeze 2
(A) 198 (B) 112 (A) S5b (B) 3%

(€) 96 (D) 84 (€) > (D) v8

82. T 675 was divided among | 82. vi¢ 59l 1¢ & RIA-RIQ AErS
75 students. Each boy gets I 20 I SAIfE s efss@ie 73R
and each girl gets ¥ 5. How 20 5IIF I il @QEIE
many girls are there among the ¢ THIE It e 2o 2a-2daq
students ? Ters PRI @I SifRe 2
(A) 45 (B) 55 (A) 8¢ (B) ¢c¢
(C) 50 (D) 37 (©) o (D) ‘9

83. In a college the seats for Arts, | 83, QU T o, iferey Bt freere
Commerce and Science are in the AYF SPE ORE GG
ratio of 5 : 7 : 8 respectively. TS HifRe @ 2 92 b, G5 AV
There is a proposal to increase Wﬁwﬁgqm 80 SN, @o
e by AV S 19 i, 30 e 71 2
ratio after the increased seats ? . o R {f\% I 2
(A) 2:3:4 T CTa1 PR RGN S
B) 6:7:8 P 2 2
(C) 6:8:9 (A) R:9:8 (B) “v:49:b
(D) None of these (©) v:v:s (D) bl

L 84. 1 (T U QB o elferR

84. A horse and a cow were sold for °R000 WW%@WQ’?’T |
T 12,000 each. The horse was sold (TR 20 *SIH TS <
at a loss of 20% and the cow at SFHI 20 Mol Ffow @ T4
a gain of 20%. The entire | T'H | Yo7 8RS A T 41901
transaction resulted in 25 —

(A) No loss or gain (A) TSI 12 FMCS! 2 |
(B) Loss of 1,000 (B) 000 TH (ETFOH |
(C) Gain of X 1,000 (0) 3000 GFIF TG |
(D) Gain of ¥ 2,000 (D) 2000 GRS |
Series-C [20] Q2



85. In what time will ¥ 1,000 become | 85. Sooo GFl I2[{ So WoR¥ T
I 1,331 at 10% per annum oS Selos 53l 7' [Fuiw TR
compound interest ? 1R 9
(A) 3yrs (B) 2 yrs (A) \'J.W (B) 7=
(C) 2% yrs (D) 3% yrs S S

86. By how much percentage area of (© = (D) oy =S
a Square will increase if its side is | 86, M 57 &TSE! BzT So *oX F
increased by 10% ? I 27 (S8 [FA *TI GCeThl
(A) 20% (B) 21% J5fewa I 27 2
(©) 22% (D) 25% (A) 20X (B) 25X

87. From a rectangle metal sheet of (C) R3¥ORA (D) 2@ oK
sides 25 cm. and 20 cm, a | 87. WY NOIFN (T 55 12
circular sheet as large as possible 2@ @BHGR AF 20 @DHEM |
is cut off What is the o[ @4 7 89 BRI
approximate area  of  the @TWW%?T%% Bfery 3, s
remaining sheet ? o2 fHHCI PR 2
(A) 186cm?  (B) 93 cm? (A) 186 Cmi (B) 93 Cmi
(C) 144 cm? (D) 72 cm? (C) 144 cm (D) 72 cm

88. <5I SITOIFIN (B AT A &F

88. A rectangular tank whose length ; (R i3l
and breac%th are 2.5 mt and %.5 ?BZ%% q(wm = (.g(.z
mt. If its capacity is 750 litre, %?E CB:W@%—\OTW? i
what is the height of the tank ? ( A\) 20 cm (B). 15 cm
E‘é; ég cm Eg)) i (5)0"“1 (C) 80cm (D) 100cm

cm cm
89. v&« JNER GGl FWE vaeq o[l

89. Two men start together to walk a OFEE QST Ta SRS
certain distance, one at 4 km/hr | FRE | OGS 2{% 8 a5
and another at 3 km/hr. The F STSE TG o [FENGN
former arrives half an hour before @EE  wiEe | fore
the later. Find the distance. PRqe ol SKEBR  S6te3
(A) 8km (B) 6km L I | e e v R 2
(C) 7km (D) 9 km (A) 8km (B) 6 km

C) 7k D) 9k

90. Atwhat rate of simple interest in | © m D) . m
4 years asum of money will | 90 ey 79T oS 8 TR P
become four times the principal ? | oIS DI 2'q 2
(A) 50% (B) 60% (A) €oXoI¥  (B) Lo XOIA
(©) 75% (D) 80% (C) oM (D) bo o™
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91.

In the National Flag of India, the
Ashok’s Chakra has

(A) 24 Spokes in black colour
(B) 16 Spokes in black colour
(C) 24 Spokes in blue colour

(D) 16 Spokes in blue colour

91.

TITe B OFS SHFEFS
W_

(A) FFEF 8 TIF 1S (R |
(B) 31969 L Tl 1% (7 |
(C) TIeTl 98T 2 8 TIF %% (T |
(D) T SY TH 7 IR |

92. Fundamental Duties were ; 92. SO WRYTe e o
incorporated n Indian ] Do RS 41 Carm 2
Constitution in the year
(A) 1950 (B) 1952 (A) >»eo (B) >z
(C) 1976 (D) 1971 (C) >54v (D) 5595

93, “India’s Soul lives in Villages” | 93. “SI©I 9Nl lICeg. P
was said by AR (et ?

(A) Vinoba Bhave (A) RERis@E
(B) Jayprakash Narayan (B) & &M [
(C) Jawaharlal Nehru (C) SR (2
(D) Mahatma Gandhi (D) w2l e

94. With A, B, C as centers, three
circles are drawn such that they %?E - A:,B’ C@ﬁiﬁﬁgmhﬁw&
touch each other externally. If the o] o (R0 fofleb 762
sides of the triangle ABC are *[91 RCBICA PICGIRs =X STz | A, B,
4 cm, 6 cm and 8 cm, then what C fqosGR =T 79 4 cm, 6 cm
is the sum of the radii of the ¥ 8 cm 2T IR0 FPIIER
circles ? | e R 29 2
(A) 9 cm (B) 14cm (A 9em (B) 14 cm
© llem (D) 12em . (©) llem (D) 12cm

95. A Supreme Court Judge can be 95, Ty GRERE &« HRIAHE
removed by _

. .. . ; EEQSWW AN
(A) Prime Minister of India
(B) The Chicf Justice of India | Eg)) ° iiqgﬁqml
(C) The Speaker of Lok Sabha ©) @WWWW |
(D) The President of India after (D) Vafe@eR wRAtS ©Res
impeachment B |
Series-C [22] Q2



96. Which Fundamental Right was i 9¢. Sigeq MRYNI @WG! @i
deSC}rlibe% by Dr. f-R Plx,{nbt}dk}?r SR T S I T
as t g .eart and soul™ of the WW’{%’W?
Constitution ? A) g =
(A) Right to Religion (A) P
(B) Right to Education (B) freeiq Sikera
(C) Right to Property (C) ™ifeq SHTIa
(D) Right to Constitutional (D) ARRHIE efePT T

Remedies P |

97. How many members can be | 97. @EIeie] wes qgdfe®

?li)ngnatgdd t:) }hle leoko Sabha by RIS 77 TS FF 2
e President of India ?

(A) 2 B) 12 (A) R (B) S)

(C) 14 (D) 7 (C) 38 (D) 1

98. What are the total no. of seats | 98, ToTPTOr® [FAIL P @5 5 S<E

rsesg:}rive‘;i for SC and ST in Lok | a5 59 AR T 91 R 2

abha *

(A) 69 and 30 (A) > HIF o

(B) 79 and 40 (B) 15 ¥ 80

(C) 89 and 50 (C) b>F o

(D) Varies after every General (D) &fs g o ree

Election E?E sfafse =3 |
O

99. The President of India addresses ! 99, ©Rex BT HRIXA 1 T
both Houses of Parliament ‘QW"\TWQ?%W I T —
assembled together at the
commencement of (A) &0o5P TR |
(A) Each year (B) @IITel ke fRfoas
(B) After each General Election 2w |
(C) Both (A) and (B)

(D) Neither (A) nor (B) - (D) (A) S (B) AT T |

100. The Constitution of India 100. SSR RRYTE O  SRORT
describe India as a @ wfeize $@ 2
(A) Confederation (A) <Y
(B) Federation (B) ¥
(C) Union of States (C) SHF 7Y
(D) None of these (D) €5l 7= |
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